
Rack for Olympic Plates & Bars 

(100897) 

 

 
 

  



 Washer:(Φ 10)    Lock Nut:(M10)

12X 6X

   Hex Bolt:(M10*80)

6X

   Countersunk Bolt:(M10*75)

1X

 

  



70
0m
m

710mm

1
1
5
0m
m

 

 

 

 

 

 

 

 

 

 

 
 

 

 

Maximum load 300KG 



1  

 

M10*80

M10*80

M10*80

M10*80

M10*80
M10*80

M10*75

M10

M10

M10

M10

M10

Φ 10

Φ 10

Φ 10

Φ 10

Φ 10

Φ 10

Φ 10

Φ 10

   Lock Nut(M10)-6PCS   Countersunk Bolt(M10*75)-1PC

   Hex Bolt(M10*80)-6PCSWasher(Φ 10)-12PCS


